
MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

SETS

Solved Examples And Exercises

1. in a survey of 500 TV views , it was found that 285 watch cricket , 195

watch football and 115 watch tannis . also , 45 watch both cricket and

football, 70 watch both cricket and tennis and 50 watch football and

tennis . if 50 do not watch any game on tv . then the no. of views watch all

three games is ?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ojErkSivTAoD


2. Of the members of three athletic teams in a certain school, 21 are in
the

basketball team, 26 in hockey team and 29 in the football team. 14 play

hockey and basket ball, 15 play hockey and football,
 12 play football and

basketball and 8 play all the three games bow many
members are there in

all?

Watch Video Solution

3. FOR ANY TWO SETS 
 , show that the following statements are

equivalent:
 
(ii) 
(iii) 
(iv) 

Watch Video Solution

AandB

A ⊂ B A − B = φ A ∪ B = B A ∩ B = A.

4. If 
 is the universal set and 


 then prove that:
 
 (ii) 

Watch Video Solution

U = {2, 3, 5, 7, 9}

A = {3, 7}, B = {2, 5, 7, 9}, (A ∪ B) ′ = A ′ ∩ B'

(A ∩ B) ′ = A ′ ∪ B'

https://dl.doubtnut.com/l/_DRq3CcDOuXqw
https://dl.doubtnut.com/l/_smdGInCgleCO
https://dl.doubtnut.com/l/_xC8us9uE8eCE


5. If A, B and C are three sets such that 
 and 


, then


(1) 
(2) 
(3) 
(4) 

Watch Video Solution

A ∩ B = A ∩ C

A ∪ B = A ∪ C

A = B A = C B = C A ∩ B = φ

6. In a group of 800 people, 550 can speak Hindi and 450 can speak

English. How many can speak both Hindi and English?

Watch Video Solution

7. Let

Verify that:
 
(ii) 

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9}, A = {2, 4, 6, 8}andB = {2, 3, 5, 7}.

(A ∪ B) ′ = A' ∩ B' (A ∩ B) ′ = A ′ ∪ B ′

8. For any two sets 
prove that A and B, A ∪ B = A ∩ B ⇔ A = B

https://dl.doubtnut.com/l/_dfQZFBHen1zb
https://dl.doubtnut.com/l/_4KYmh3ZwB6iE
https://dl.doubtnut.com/l/_4S5I41cPS9hj
https://dl.doubtnut.com/l/_up5vptGU8NVc


Watch Video Solution

9. The collection of vowels in English alphabets. This set contains five

elements. Namely, 

Watch Video Solution

a,  e,  i,  o,  u.

10. The collection of first given prime natural numbers is   as set

containing the elements 2, 3, 5, 7,
11.

Watch Video Solution

11. The collection of all States in the Indian Union is a set.

Watch Video Solution

12. The collection of post presidents of the Indian union is a set.

W h Vid S l i

https://dl.doubtnut.com/l/_up5vptGU8NVc
https://dl.doubtnut.com/l/_q5MkHieSyOE8
https://dl.doubtnut.com/l/_o0BnBX60rkI0
https://dl.doubtnut.com/l/_9oVDCSRc22Fg
https://dl.doubtnut.com/l/_ftbsy2bTHRH5


Watch Video Solution

13. The collection of cricketers in the world who were out for 99 runs in a

test match is a set.

Watch Video Solution

14. What is the difference between a collection and a set? Give reasons to

support your answer?

Watch Video Solution

15. Which of the following collections are sets? Justify your answer:
 A

collection of all natural numbers less than 50.

Watch Video Solution

https://dl.doubtnut.com/l/_ftbsy2bTHRH5
https://dl.doubtnut.com/l/_BTK9d7E6bhx8
https://dl.doubtnut.com/l/_bB79E1U3YW4J
https://dl.doubtnut.com/l/_M4JbLtFt6Fpx


16. Which of the following collections are sets? Justify your answer:
 The

collection of good hockey players in India.

Watch Video Solution

17. Which of the following collections are sets? Justify your answer:
 The

collection of all girls in your class.

Watch Video Solution

18. Which of the following collections are sets? Justify your answer:
 The

collection most talented writers of India.

Watch Video Solution

19. Which of the following collections are sets? Justify your answer:
 The

collection of difficult topics in Mathematics.

https://dl.doubtnut.com/l/_Pj7AphlWq5Ln
https://dl.doubtnut.com/l/_3iYkUV1DMVpK
https://dl.doubtnut.com/l/_9PUXQiM7vxbR
https://dl.doubtnut.com/l/_VlDe9Qy5D2CQ


Watch Video Solution

20. The collection of all months of a year beginning with the letter J.

Watch Video Solution

21. A collection of novels written by Munshi Prem Chand.

Watch Video Solution

22. Which of the following collections are sets? Justify your answer:
 A

collection of most dangerous animals of the world.

Watch Video Solution

23. Which of the following collections are sets? Justify your answer:
(i)The

collection   of prime
 integers.(ii) The collection of easy sub topics in this

https://dl.doubtnut.com/l/_VlDe9Qy5D2CQ
https://dl.doubtnut.com/l/_veD7u7HzJFpe
https://dl.doubtnut.com/l/_ZwpXCGi9Yymx
https://dl.doubtnut.com/l/_8sxwOTnm19jU
https://dl.doubtnut.com/l/_gXo9CcuDJovZ


chapter.
 (iii) The collection of good teachers in your school.
 (iv) The

collection of girls in your class.
(v) The collection of odd natural numbers.

Watch Video Solution

24. If 
 , then insert the appropriate

symbol 
in each of the following blank spaces:
4..A ii. 12..A
-4..A

iv. 9..A
0..A vi. -2..A

Watch Video Solution

A = {0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

∈ or   ∉

25. Describe the following wets in Roster form:
 The set off all letters in

the word 

Watch Video Solution

'MATHEMATICS'

26. Describe the following wets in Roster form:
 The set off all letters in

the word 'ALGEBRA'

https://dl.doubtnut.com/l/_gXo9CcuDJovZ
https://dl.doubtnut.com/l/_1wVO9asZowkN
https://dl.doubtnut.com/l/_2AOzdKBSk0GS
https://dl.doubtnut.com/l/_46wGFwYa6kh5


Watch Video Solution

27. Describe the following words in Roster form:
The set off all vowels in

the word 

Watch Video Solution

'EQUATION'

28. Describe the following wets in Roster form:
 The set of squares of

integers.

Watch Video Solution

29. Describe the following wets in Roster form:
 The set of all natural

numbers less than 7 ?

Watch Video Solution

https://dl.doubtnut.com/l/_46wGFwYa6kh5
https://dl.doubtnut.com/l/_3BlUzU5l3oIR
https://dl.doubtnut.com/l/_Dllf1JuYnKrK
https://dl.doubtnut.com/l/_68huBE136DIl


30. Write the set 
 in the set builder

form.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

{ , , , , , , , , }
1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

{x : x = , where ∀n ∈ N and 1 ≤ n ≤ 9}
n

n + 1

{x : x = , where ∀n ∈ N and 1 ≤ n ≤ 9}
n

n − 1

{x : x = , where ∀n ∈ N and 1 < n < 9}
n

n + 1

31. Describe the following sets in Roster form:
 
is a letter before 
 in

the English alphabet 
.

Watch Video Solution

{x : d e

}

https://dl.doubtnut.com/l/_T4WWGy8j58z9
https://dl.doubtnut.com/l/_HQEh3OE0gIrk


32. Describe the following sets in Roster form: 

Watch Video Solution

{x ∈ n : x2 < 25}

33. Describe the following sets in Roster form:
 
 a prime

number, 

Watch Video Solution

{x ∈ N : x

{10 < x < 20}.

34. Describe the following sets in Roster form: 

Watch Video Solution

{x ∈ N : x = 2n, n ∈ N}

35. Describe the following sets in Roster form: 

Watch Video Solution

{x ∈ R : x > x}.

https://dl.doubtnut.com/l/_gJe3PkMRt2Ne
https://dl.doubtnut.com/l/_YPIAyTZ07x3b
https://dl.doubtnut.com/l/_srMpmN8CMCag
https://dl.doubtnut.com/l/_acMTvLYPzlYW


36. Describe the following sets in Roster form:
 
 is a prime number

which is a divisor of 60

Watch Video Solution

{x : x

}.

37. Describe the following sets in Roster form:
 
is a two digit number

such that the sum of digits is 8 
.

Watch Video Solution

{x : x

}

38. Describe the following sets in Roster form:
The set of all letters in the

word ‘Better’.

Watch Video Solution

39. Describe the following set in set builder form: 

Watch Video Solution

A = {1, 2, 3, 4, 5, 6}

https://dl.doubtnut.com/l/_cQkfcyt5R8dT
https://dl.doubtnut.com/l/_pknaNgc6K8yu
https://dl.doubtnut.com/l/_XhusCM8uWSIf
https://dl.doubtnut.com/l/_YDzleZViCbhz


40. Describe the following set in set builder form:

Watch Video Solution

{B = 1, , , , , . . }
1

2

1

3

1

4

1

4

41. Describe the following set in set builder form: 

Watch Video Solution

C = {0, 3, 6, 9, 12}

42. Describe the following set in set builder form:

Watch Video Solution

D{10, 11, 12, 13, 14, 15}

43. Describe the following set in set builder form: 

Watch Video Solution

E = {0}

https://dl.doubtnut.com/l/_YDzleZViCbhz
https://dl.doubtnut.com/l/_GIOm5kLNEVM8
https://dl.doubtnut.com/l/_1DIqRbq5Jet5
https://dl.doubtnut.com/l/_ZBNXdf07QRiq
https://dl.doubtnut.com/l/_YIsFfPjtw6Ao


44. Describe the following set in set builder form:

Watch Video Solution

{1, 4, 9, 16, ........., 100}

45. Describe the following set in set builder form: 

Watch Video Solution

{2, 4, 6, 8, .}

46. Describe the following set in set builder form: 

Watch Video Solution

{5, 25, 125, 625}

47. mFind the pairs of equal sets from the following sets, if any, giving

reasons: 

A = {0},  B = {x : x > 15 and x < 5},  C = {x : x − 5 = 0},  D = {x : x2

https://dl.doubtnut.com/l/_YIsFfPjtw6Ao
https://dl.doubtnut.com/l/_G1WB4ewsfVeA
https://dl.doubtnut.com/l/_cx26VM4ZInmX
https://dl.doubtnut.com/l/_jUbX1GqScebQ
https://dl.doubtnut.com/l/_mCV6NWJupR7R



 is an integral positive root of the equation 


.

Watch Video Solution

E = {x : x

x2 − 2x − 15 = 0}

48. Which of the following are examples of empty set?
 Set of all even

natural numbers divisible by 5.

Watch Video Solution

49. Which of the following are examples of empty set?
 Set of all even

prime numbers.

Watch Video Solution

50. Which of the following are examples of empty set?


is rational

Watch Video Solution

{x : x2 − 2 = 0 and x }

https://dl.doubtnut.com/l/_mCV6NWJupR7R
https://dl.doubtnut.com/l/_HZsOW9pwmnKY
https://dl.doubtnut.com/l/_VPYtzgl6RgFt
https://dl.doubtnut.com/l/_tDagVtALt5Y4


51. Which of the following are examples of empty set?
 
 is a natural

number, 
and simultaneously 

Watch Video Solution

{x : x

x < 8 x > 12}

52. Which of the following are examples of empty set?
 
 is a point

common to may two parallel lines 
.

Watch Video Solution

{x : x

}

53. Are the following sets equal?
 
is a letter in the work reap 
 , 


 is as letter in the work paper 
 
 is a letter in the

work rope 
.

Watch Video Solution

A = {x : x }

B = {x : x } C = {x : x

}

https://dl.doubtnut.com/l/_tDagVtALt5Y4
https://dl.doubtnut.com/l/_Hz2y6t12PKLa
https://dl.doubtnut.com/l/_lqu8aTPK7AwW
https://dl.doubtnut.com/l/_36VOZcMhnvXl


54. Are the following pairs of sets equal? Give reason.


Watch Video Solution

A = {2, 3}

55. Are the following pairs of sets equal? Give reason.
 
 is a

letter of the word WOLF 
 
 is a letter of the word 

Watch Video Solution

A = {x : x

} B = {x : x

F O L L O W}

56. Which o the following sets are equal?


 D={x :  , x is

odd , x<5}, E={1,2,1,1},\ F={1,1,3}`

Watch Video Solution

A = {x : x ∈ N,  x < 3},  B = {1, 2},  C = {3, 11} x ∈ N

https://dl.doubtnut.com/l/_hqhxPfVr2vVb
https://dl.doubtnut.com/l/_2AcuuOlC9aiu
https://dl.doubtnut.com/l/_5zHilgTSvOOm


57. Show that the set of letters needed to spell “CATARACT” and the set of

letters needed spell “TRACT” are equal.

Watch Video Solution

58. When we study two dimensional coordinate geometry, then the set of

all
points in xy-plane is the universal set.

Watch Video Solution

59. If

can be taken as the universal set.

Watch Video Solution

A = {1, 2, 3},  B = {2, 4, 5, 6}and C = {1, 3, 5, 7},  then U = {1, 2, 3, 4, 5

https://dl.doubtnut.com/l/_dCPAAQFVxp9J
https://dl.doubtnut.com/l/_V3pmeqZlwPW7
https://dl.doubtnut.com/l/_9H2q7tgBFGea


60. When we are using sets containing natural numbers, then N is the

universal set.n

Watch Video Solution

61. Let 
Then the subsets of A are:

Watch Video Solution

A = {1, 2, 3}.

62. If 
 is the void set 
 then 
 has just one element 
 i.e. 

 So number of elements of is
.

Watch Video Solution

A φ P (A) φ

P (φ) = {φ} P [P (P (φ))]

63. An investigator interviewed 100 students to determine the

performance of three drinks: that 10 students take all three drinks milk,

milk, coffee and tea. The investigator reported coffee and tea; 20

https://dl.doubtnut.com/l/_GkqXU9IseYSD
https://dl.doubtnut.com/l/_GlK15vkrvREb
https://dl.doubtnut.com/l/_HSJ3AkKVRoSN
https://dl.doubtnut.com/l/_ZdTJ4mWfhMMs


students take milk and coffee: 25 students take milk and tea; 20 students

take coffee and tea; 12 students take milk only; 5 students take coffee

only and 8 students take tea only. then the number of students who did

not take any of three drinks is

Watch Video Solution

64. Show that 

Watch Video Solution

n{P{P (P (φ))}} = 4.

65. Let `A={a ,\ {b}},\ fin d\ P(A)

Watch Video Solution

66. Consider the following sets


 . Insert the correct

symbol 
between each of the following pair of sets: 

φ,  A = {1, 2}, B = {1, 4, 8}, C = {1, 2, 4, 6, 8}

⊂ and φ...B

https://dl.doubtnut.com/l/_ZdTJ4mWfhMMs
https://dl.doubtnut.com/l/_6JlHXWorrNDA
https://dl.doubtnut.com/l/_fBJegjZ4mnwC
https://dl.doubtnut.com/l/_FYWOkp1IBgbG


Watch Video Solution

67. Consider the following sets


 . Insert the correct

symbol 
between each of the following pair of sets: 

Watch Video Solution

φ,  A = {1, 2}, B = {1, 4, 8}, C = {1, 2, 4, 6, 8}

⊂ and A...B

68. Consider the following sets


 . Insert the correct

symbol 
between each of the following pair of sets: 

Watch Video Solution

φ,  A = {1, 2}, B = {1, 4, 8}, C = {1, 2, 4, 6, 8}

⊂ and A...C

69. Consider the following sets


 . Insert the correct

symbol 
between each of the following pair of sets: 

Watch Video Solution

φ,  A = {1, 2}, B = {1, 4, 8}, C = {1, 2, 4, 6, 8}

⊂ and B...C

https://dl.doubtnut.com/l/_FYWOkp1IBgbG
https://dl.doubtnut.com/l/_YeVbMv7DC8Kr
https://dl.doubtnut.com/l/_xV4wyKbTD3Tl
https://dl.doubtnut.com/l/_o9BZDiRjF5ZH


70. Let 
 . Find all sets 

such that: 

Watch Video Solution

A = {a, b, c, d},  B = {a, b, c}and C = {b, d} X

X ⊂ B and X ⊂ C.

71. Let 
 . Find all sets 

such that: 

Watch Video Solution

A = {a, b, c, d},  B = {a, b, c}and C = {b, d} X

X ⊂ A and XB.

72. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example: If

Watch Video Solution

x ∈ A and A ∈ B,  then x ∈ B.

https://dl.doubtnut.com/l/_o9BZDiRjF5ZH
https://dl.doubtnut.com/l/_bP6GZ2vQEact
https://dl.doubtnut.com/l/_oIQ0S3jkYC0Q
https://dl.doubtnut.com/l/_8ar4pihSMDxv


73. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example:

Watch Video Solution

74. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example:

Watch Video Solution

75. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example: If

Watch Video Solution

A ⊂ B and B ∈ C,  then A ∈ C.

https://dl.doubtnut.com/l/_0MlHYBEkT4S0
https://dl.doubtnut.com/l/_PXUCYqyUzONp
https://dl.doubtnut.com/l/_MeGoIk2HbCeZ
https://dl.doubtnut.com/l/_dJSSVYfNJK2Y


76. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example:

Watch Video Solution

77. In each of the following determine whether the statement is true or

false. If it is true prove it . if it is false, give an example: If

Watch Video Solution

A ⊂ B and x ∉ B,  then x ∉ A.

78. Write the following subsets of 
 as interval:

Watch Video Solution

R

{x : x ∈ R, − 4 < x ≤ 6}

79. Write the following subsets of 
as interval: `{x : x in R ,\ -12R

https://dl.doubtnut.com/l/_dJSSVYfNJK2Y
https://dl.doubtnut.com/l/_CR4vNtEAdWpb
https://dl.doubtnut.com/l/_kPuuQoQL4Jbt
https://dl.doubtnut.com/l/_D2drDEKQk00e


Watch Video Solution

80. Write the following subsets of 
as interval: 

A. [0,7]

B. (0,7)

C. (0,7]

D. [0,7)

Answer: D

Watch Video Solution

R {x : x ∈ R,  0 ≤ x < 7}

81. Write the following subsets of 
as interval: 

Watch Video Solution

R {x : x ∈ R,  3 ≤ x ≤ 4}

https://dl.doubtnut.com/l/_D2drDEKQk00e
https://dl.doubtnut.com/l/_BtADvo81e6Rl
https://dl.doubtnut.com/l/_C1JQHoClHCVU


82. Write the following interval in the set builder form: 

Watch Video Solution

(7, 0)

83. Write the following interval in the set builder form: 

Watch Video Solution

[6, 12]

84. Write the following interval in the set builder form: 

Watch Video Solution

(6, 12]

85. Write the following interval in the set builder form: 

Watch Video Solution

[ − 20, 3)

https://dl.doubtnut.com/l/_pOEQ0yOYgyXL
https://dl.doubtnut.com/l/_vUPmBtOF3z0D
https://dl.doubtnut.com/l/_USpXte3dfghx
https://dl.doubtnut.com/l/_UxNBauvPXtmh


86. Which of the following statements are true? Give reason to support

your
answer. For any two sets A and B either 

Watch Video Solution

A ⊆ B  or  B ⊆ A.

87. Which of the following statements are true? Give reason to support

your
answer. Every subset of an infinite set in infinite.

Watch Video Solution

88. Which of the following statements are true? Give reason to support

your
answer. Every subset of a finite set is finite.

Watch Video Solution

89. Which of the following statements are true? Give reason to support

your
answer. Every set has a proper subset.

https://dl.doubtnut.com/l/_yDsBmYQFobL8
https://dl.doubtnut.com/l/_RXjDI97fxxB6
https://dl.doubtnut.com/l/_KsUbkWzYdPcR
https://dl.doubtnut.com/l/_KZwSBwXtWzlT


Watch Video Solution

90. Which of the following statements are true? Give reason to support

your
answer. 
is an infinite set.

Watch Video Solution

{a, b, a, b, a, b.}

91. Which of the following statements are true? Give reason to support

your
answer. 
and 
are equivalent sets.

Watch Video Solution

{a, b, c} {1, 2, 3}

92. Which of the following statements are true? Give reason to support

your
answer. A set can have infinitely many subsets.

Watch Video Solution

https://dl.doubtnut.com/l/_KZwSBwXtWzlT
https://dl.doubtnut.com/l/_FA5xNWcoSHR8
https://dl.doubtnut.com/l/_1uE2Bw68Xuxv
https://dl.doubtnut.com/l/_tb5UaFzD2yLP


93. State whether the following statements are true or false: 













The set 


is the null set.

Watch Video Solution

1 ∈ {1, 2, 3}

a ⊂ {b, c, a}

{a} ∈ {a, b, c}

{a, b} = {a, a, b, b, a}

{x : x + 8 = 8}

94. Decide among the following sets, which are subsets of which:


 satisfies 

Watch Video Solution

A = {x : x

x2 − 8x + 12 = 0},  B = {2, 4, 6},  C = {2, 4, 6, 8},  D = {6}.

95. Write which of the following statements are true? Justify your answer:

The set of all crows in contained in the set of all birds.

https://dl.doubtnut.com/l/_XnuwZ0C7SfHT
https://dl.doubtnut.com/l/_59TqYZ6kimOy
https://dl.doubtnut.com/l/_r9oHuC5Nq7EB


Watch Video Solution

96. Write which of the following statements are true? Justify your answer:

The set of all rectangles is contained in the set of all squares.

Watch Video Solution

97. Write which of the following statements are true? Justify your answer:

The set of all rectangles is contained in the set of all squares.

Watch Video Solution

98. Write which of the following statements are true? Justify your answer:

The set of all real numbers is contained in the set of all complex numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_r9oHuC5Nq7EB
https://dl.doubtnut.com/l/_PpSIURe0SUAj
https://dl.doubtnut.com/l/_UvC1KopMvjV8
https://dl.doubtnut.com/l/_sMzBMisIdYeY


99. Write which of the following statements are true? Justify your answer:

The sets 
are equal.

Watch Video Solution

P = {a}and B = {{a}and B = {a}}

100. Write which of the following statements are true? Justify your

answer:
 The sets 
 is a letter of the word LITTLE 
 and 


is a letter of the word TITLE 
are equal.

Watch Video Solution

A = {x : x }

B = {x : x }

101. Which of the following statements are correct? Write a correct form

of
each of the incorrect statements.

(i) 


ii. 


iii. 


Watch Video Solution

a ⊂ {a, b, c}

{a} ∈ {a, b, c}

a ∈ {{a}, b}

https://dl.doubtnut.com/l/_ObMP0tGakJpa
https://dl.doubtnut.com/l/_wMdqbzPQffO7
https://dl.doubtnut.com/l/_NLdDhNtcMlUH


102. Which of the following statements are correct? Write a correct form

of
each of the incorrect statements.










Watch Video Solution

(i){a} ⊂ {{a}, b}

(ii){b, c} ⊂ {a, {b, c}}

(iii){a, b} ⊂ {b, c}

103. Which of the following statements are correct? Write a correct form

of
each of the incorrect statements.

(i) 


ii. 


iii. 

Watch Video Solution

ϕ{a, b}

ϕ ⊂ {a, b, c}

{x : x + 3 = 3} = ϕ

104. Let 
 . Which of the following statements are

false and why?

A = {a, b, {c, d},  e}

https://dl.doubtnut.com/l/_Z3Mj4eOmLNJc
https://dl.doubtnut.com/l/_zVWeEBNDD6sI
https://dl.doubtnut.com/l/_mlL3AP1Tk7f3


(i) 





(iii) 


Watch Video Solution

{c, d} ⊂ A

(ii){c, d} ∈ A

{{c, d}} ⊂ A

105. Let 
 . Which of the following statements are

false and why?

(i) 





Watch Video Solution

A = {a, b, {c, d},  e}

a ∈ A

(ii)a ⊂ A

(iii){a, b, e} ⊂ A

106. Let 
 . Which of the following statements are

false and why?







A = {a, b, {c, d},  e}

(i){a, b, e}i ⊂ A

(ii){a, b, c} ⊂ A

(iii){ϕ} ⊂ A

https://dl.doubtnut.com/l/_mlL3AP1Tk7f3
https://dl.doubtnut.com/l/_vC2SDI9ZNIsB
https://dl.doubtnut.com/l/_Uxi1BX3sA32V


Watch Video Solution

107. Let 
 Determine which of the

following is true or false:







Watch Video Solution

A = {{1, 2, 3},  {4, 5},  {6, 7, 8}}.

(i)1 ∈ A

(ii){1, 2, 3} ⊂ A

(ii){6, 7, 8} ∈ A

108. Let 
 Determine which of the

following is true or false:

(i) 


(ii)

Watch Video Solution

A = {{1, 2, 3},  {4, 5},  {6, 7, 8}}.

{{4, 5}} ⊂ A

ϕ ⊂ A

https://dl.doubtnut.com/l/_Uxi1BX3sA32V
https://dl.doubtnut.com/l/_TSywFVQ0iuOm
https://dl.doubtnut.com/l/_vSJ6MEFUPiwK


109. Let 
 Which of the following are true? 

ii. 
iii. 

Watch Video Solution

A = {ϕ, {ϕ}, 1, {1, ϕ}, 2}. ϕA

2 ⊂ A {2, {1}} ⊂ A

110. Let 
 Which of the following are true?



ii. 

Watch Video Solution

A = {ϕ{ϕ}, 1, {1, ϕ}, 2}.

{{2}, {1}} ⊂ A {ϕ, {ϕ}, {1, ϕ}} ⊂ A

111. Let 
 Which of the following are true?



ii. 
iii. 

Watch Video Solution

A = {ϕ, {ϕ}, 1, {1, ϕ}, 2}.

{1} ⊂ A {{ϕ}} ⊂ A {2, ϕ} ⊂ A

112. Write down all possible subset of each of the following set: 

Watch Video Solution

{0, 1}

https://dl.doubtnut.com/l/_beAM3nIgtJSX
https://dl.doubtnut.com/l/_tt0V9WKGEXfb
https://dl.doubtnut.com/l/_sD89Xrzda410
https://dl.doubtnut.com/l/_ufFL4ZzBKgpB


113. Write down all possible subset of each of the following set: 

Watch Video Solution

{1, {1}}

114. Write down all possible subset of each of the following set: 

Watch Video Solution

{ϕ}

115. Write down all possible subset of each of the following set: 

Watch Video Solution

{a, b, c}

116. Write down all possible proper subsets each of the following set:

Watch Video Solution

{1, 2}

https://dl.doubtnut.com/l/_ufFL4ZzBKgpB
https://dl.doubtnut.com/l/_d0CRvqmVV1qc
https://dl.doubtnut.com/l/_IjS8tj7RN2jm
https://dl.doubtnut.com/l/_yCBN00xfRij0
https://dl.doubtnut.com/l/_oy9vglmneEPn
https://dl.doubtnut.com/l/_ZhS8mpSmFK9T


117. Write down all possible proper subsets each of the following set:

Watch Video Solution

{1, 2, 3}

118. Write down all possible proper subsets each of the following set: 

Watch Video Solution

{1}

119. How many elements has , if

Watch Video Solution

P (A) A = ϕ

120. If 
.

Watch Video Solution

A = {1, 2, 3}and B = {1, 3, 5, 7},  then A ∪ B = {1, 2, 3, 5, 7}

https://dl.doubtnut.com/l/_ZhS8mpSmFK9T
https://dl.doubtnut.com/l/_b5kOn0snAWgZ
https://dl.doubtnut.com/l/_ebozF7Bx7b6i
https://dl.doubtnut.com/l/_ImAGQ3NUeN7u


121. If 
 ,

then 
 is an odd integer 
 is an even integer


is an integer

Watch Video Solution

A = {x : x = 2n + 1,  n ∈ Z} and B = {x : x = 2n,  n ∈ Z}

A ∪ B = {x : x }  ∪ {x : x

} = {x : x } = Z.

122. Let 
 . Then 

Watch Video Solution

A = {1, 2, 3},  B = {4, 5},  C = {6, 7, 8}

A ∪ B ∪ C = {1, 2, 3, 4, 5, 6, 7, 8}

123. If 
then 

Watch Video Solution

A = {1, 2, 3, 4, 5} and  B = {1, 3, 9, 12} A ∩ B = {1, 3}.

124. If

A = {1, 2, 3, 4, 5, 6, 7, 8} and B = {1, 3, 5, 6, 7, 8, 9},  then A − B = {2, 4

https://dl.doubtnut.com/l/_a6KAdjbTYArB
https://dl.doubtnut.com/l/_ljgvSj2qKtZX
https://dl.doubtnut.com/l/_O6PtDi132wmT
https://dl.doubtnut.com/l/_q77JMCTD6Fuk


Watch Video Solution

125. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

A ∪ C

126. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

B ∪ C

127. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

B ∪ D

https://dl.doubtnut.com/l/_q77JMCTD6Fuk
https://dl.doubtnut.com/l/_ryEnaxGcXpqg
https://dl.doubtnut.com/l/_g0kX3hVo2YNP
https://dl.doubtnut.com/l/_ureCfTaOn2jF


128. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

B ∪ C ∪ D

129. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

A ∪ B ∪ C

130. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

A ∪ B ∪ D

https://dl.doubtnut.com/l/_ureCfTaOn2jF
https://dl.doubtnut.com/l/_oAVERrqyYGDD
https://dl.doubtnut.com/l/_DvEEiU0MWKLy
https://dl.doubtnut.com/l/_o2WXg6EKU62y


131. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

A ∩ (B ∪ C)

132. If

. Find: 

Watch Video Solution

A = {1, 2, 3, 4, 5},  B = {4, 5, 6, 7, 8},  C = {7, 8, 9, 10, 11}and D = {10, 1

(A ∩ B) ∩ {B ∩ C}

133. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}an

} A ∩ B

https://dl.doubtnut.com/l/_o2WXg6EKU62y
https://dl.doubtnut.com/l/_BfVhBxFW4R59
https://dl.doubtnut.com/l/_Exv1B70C2gQ8
https://dl.doubtnut.com/l/_9KYoUvDKTJN2


134. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}an

} A ∩ C

135. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}an

} A ∩ D

136. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x = 2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}

} B ∩ C

https://dl.doubtnut.com/l/_bsRyfcPI7voo
https://dl.doubtnut.com/l/_KH54SnuKWOCj
https://dl.doubtnut.com/l/_If1EWnFs7IPf
https://dl.doubtnut.com/l/_6AMfWEGLRoVT


137. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}an

} B ∩ D

138. Let

is a prime natural number 
. Find: 

Watch Video Solution

A = {x : x ∈ N},  B = {x; x = 2n,  n ∈ N},  C = {x : x = 2n − 1, n ∈ N}

} C ∩ D

139. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

A − B

https://dl.doubtnut.com/l/_6AMfWEGLRoVT
https://dl.doubtnut.com/l/_I6qO0wM2cxnd
https://dl.doubtnut.com/l/_N7sPqobGI49w


140. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

A − C

141. Let

. Find:

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

A − D

142. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

B − A

https://dl.doubtnut.com/l/_8yaHSqis0zYL
https://dl.doubtnut.com/l/_rFLQoPVqIK97
https://dl.doubtnut.com/l/_eyNbGRbiPEgQ
https://dl.doubtnut.com/l/_XCpEZHkrqCLm


143. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

B − C

144. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

B − D

145. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

 C − A

https://dl.doubtnut.com/l/_XCpEZHkrqCLm
https://dl.doubtnut.com/l/_CWDGKCVHculJ
https://dl.doubtnut.com/l/_jfwy7S119egv


146. Let

. Find: 

Watch Video Solution

A = {3, 6, 12, 15, 18, 21},  B = {4, 8, 12, 16, 20},  C = {2, 4, 6, 8, 10, 12, 14

D − A

147. A class has 175 students. The following data shows the number of

students obtaining one or more subjects. Mathematics 100, Physics 70,

Chemistry 40, Mathematics and Physics 30, Mathematics and Chemistry

28, Physics and Chemistry 23, Mathematics, Physics and Chemistry 18. How

many students have offered Mathematics alone (a) 35 (c) 60 (b) 48 (d) 22

Watch Video Solution

148. Two finite sets A and 8 have m and n element respectively. If the total

number of subsets of A is 112more than the total number of subsets of B,

then the value of m is

Watch Video Solution

https://dl.doubtnut.com/l/_4soXrEKk5Ozl
https://dl.doubtnut.com/l/_qOmPkGIbPpzN
https://dl.doubtnut.com/l/_q7M97vjP9u2f


Watch Video Solution

149. For any two sets A and B, 
 is equal to
 
 b. 
 c. 
 d. 

Watch Video Solution

A ∩ (A ∪ B' ) A B ϕ

A ∩ B

150. The set  is equal to

Watch Video Solution

(A ∪ B' ) ∪ (B ∩ C)

151. If 
such that 
. Describe the set 

Watch Video Solution

a ∈ N aN = {ax : x ∈ N} 3N ∩ 7N.

152. Find the smallest set 
such that 

Watch Video Solution

A A ∪ {1, 2} = {1, 2, 3, 5, 9}.

https://dl.doubtnut.com/l/_q7M97vjP9u2f
https://dl.doubtnut.com/l/_1LFOkbHfHkUH
https://dl.doubtnut.com/l/_7yI0Uqmy64V7
https://dl.doubtnut.com/l/_75Jb7cSJeryJ
https://dl.doubtnut.com/l/_Imu4M6vbtu0e


153. Let 
 . Verify the

following identities: 

Watch Video Solution

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

154. Let 
 . Verify the

following identities: 

Watch Video Solution

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

155. Let 
 . Verify the

following identities: 

Watch Video Solution

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A − (B ∩ C) = (A − B) ∪ (A − C)

156. Let 
 . Verify the

following identities: 

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A − (B ∪ C) = (A − B) ∩ (A − C)

https://dl.doubtnut.com/l/_pGr2FQ2aIv9x
https://dl.doubtnut.com/l/_zAPCWeQ5hNym
https://dl.doubtnut.com/l/_mj7wEUTIfTpU
https://dl.doubtnut.com/l/_dSumiMHDDhQO


Watch Video Solution

157. Let 
 . Verify the

following identities: 

Watch Video Solution

A = {1, 2, 4, 5} B = {2, 3, 5, 6}C = {4, 5, 6, 7}

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

158. For any two sets 
prove that 

Watch Video Solution

A and B, B ⊂ A ∪ B

159. For any two sets 
prove that 

Watch Video Solution

A and B, A ∩ B ⊂ A

160. For any two sets 
prove that 

Watch Video Solution

A and B, A ⊂ B ⇒ A ∩ B = A

https://dl.doubtnut.com/l/_dSumiMHDDhQO
https://dl.doubtnut.com/l/_FCUarQkDPg3t
https://dl.doubtnut.com/l/_x2OLnJZz8nkA
https://dl.doubtnut.com/l/_N6oCS35oFext
https://dl.doubtnut.com/l/_UQpheueqoz0a


161. Show that  need not imply 

Watch Video Solution

A ∩ B = A ∩ C B ≠ C

162. Show that if 
, then  .

Watch Video Solution

A ⊂ B C  −  B ⊂ C  −  A

163. Prove that 

Watch Video Solution

A ∪ (A ∩ B) = A

164. For any two sets, prove that:

Watch Video Solution

 A ∩ (A ∪ B) = A

https://dl.doubtnut.com/l/_UQpheueqoz0a
https://dl.doubtnut.com/l/_TiNuOd84EVZT
https://dl.doubtnut.com/l/_0X1l7bYQVbHt
https://dl.doubtnut.com/l/_hjFREGZHOFP1
https://dl.doubtnut.com/l/_UE00FPJOAx8E


165. Find sets A, B and C such that 
 , 
 and 
 are

nonempty sets and 
.

Watch Video Solution

A ∩ B B ∩ C A ∩ C

A ∩ B ∩ C = φ

166. For any two sets 
prove that 

Watch Video Solution

A and B, A ∩ B = ϕ ⇒ A ⊆ B ′ .

167. For any two sets of A and B, prove that: 

Watch Video Solution

A ′ ∪ B = U ⇒ A ⊂ B

168. Is it true that for any sets A
and B, = 
? Justify

your answer.

Watch Video Solution

P (A) ∪ P (B) P (A ∪ B)

https://dl.doubtnut.com/l/_MJdSOpyRfD5h
https://dl.doubtnut.com/l/_NkuwguuhzhcC
https://dl.doubtnut.com/l/_6QGxBj2qxnNL
https://dl.doubtnut.com/l/_iQIonzY6HT62
https://dl.doubtnut.com/l/_K215OnHIWdNi


169. If A and B are any two sets, then prove that

Watch Video Solution

(A ∩ B) ∪ (A − B) = A

170. Show that for any set A and B

 and 

Watch Video Solution

A = (A ∩ B) ∪ (A − B) A ∪ (B − A) = (A ∪ B)

171. For any two sets A and B prove the following:

Watch Video Solution

A ∩ (A ′ ∪ B) = A ∩ B

172. For any two sets A and B prove the following:

W h Vid S l i

A − (A − B) = A ∩ B

https://dl.doubtnut.com/l/_K215OnHIWdNi
https://dl.doubtnut.com/l/_vxjTDTr8vA1D
https://dl.doubtnut.com/l/_sajE0ERYGxIG
https://dl.doubtnut.com/l/_PlhfVMUYmmh3


Watch Video Solution

173. For any two sets A and B prove the following: 

Watch Video Solution

A ∩ (A   ∪ B)' = φ

174. In a class of 35 students, 24 like to play
 cricket and 16 like to play

football. Also, each student likes to play at
 least one of the two games.

How many students like to play both cricket and
football?

Watch Video Solution

175. In a group of 50 people, 35 speak Hindi, 25 speak both English and

Hindi and all the people speak at least one of the two languages. How

many
people speak only English and not Hindi? How many people speak

English?

Watch Video Solution

https://dl.doubtnut.com/l/_PlhfVMUYmmh3
https://dl.doubtnut.com/l/_SnQqEQnc0WbN
https://dl.doubtnut.com/l/_K0VobW7jXtBA
https://dl.doubtnut.com/l/_1OHb5xnZTF9Y


176. Out of 500 car owners investigated, 400 owned car
A and 200 owned

car B, 50 owned both A and B cars. Is this data correct?

Watch Video Solution

177. A market research group conducted a survey of 2000 consumers and

reported that 1720 consumers liked product 
and 1450 consumers like

product 
 What is the least number that must have liked both the

products?

Watch Video Solution

P1

P2.

178. A survey shows that 63% of the Americans like cheese whereas 76%

like apples. If x% of the Americans likes both cheese and apples, find the

value of x.

Watch Video Solution

(39 ≤ x ≤ 63)

https://dl.doubtnut.com/l/_iXVFcZbUAsUg
https://dl.doubtnut.com/l/_d6CoKHdhS7iI
https://dl.doubtnut.com/l/_OfFv6nPlpZn3
https://dl.doubtnut.com/l/_hldFRm4ERVBs


179. A college warded 38 medals in football, 15 in
 basketball and 20 in

cricket. If these medals went to a total of 58 men and
only three men got

medals in all the three sports, how many received medals
 in exactly two

of the three sports?

Watch Video Solution

180. If A and B are two sets such that

Watch Video Solution

n(A ∪ B) = 50,  n(A) = 20 and n(B) = 32,  f ∈ d n(A ∩ B).

181. If X and Y are two sets such
 that X has 40 elements, 
 has 60

elements and 
has 10 elements, how many elements does Y
have?

Watch Video Solution

X ∪ Y

X ∩ Y

https://dl.doubtnut.com/l/_hldFRm4ERVBs
https://dl.doubtnut.com/l/_dcSzVblxDGHm
https://dl.doubtnut.com/l/_Xbt92U6fb3Iu


182. In
a school there are 20 teachers who teach mathematics or physics.

Of these, 12
 teach mathematics and 4 teach both physics and

mathematics. How many teach
physics?

Watch Video Solution

183. In a group of 70 people, 37
 like coffee, 52 like tea and each person

likes at least one of the two
drinks. How many people like both coffee and

tea?

Watch Video Solution

184. Let A and B be two sets such tat


Find 

Watch Video Solution

: n(A) = 20,  n(A ∪ B) = 42 and n(A ∩ B) = 4. n(B)

https://dl.doubtnut.com/l/_U0FWkDkG99Cy
https://dl.doubtnut.com/l/_LpjRBdYN9kxw
https://dl.doubtnut.com/l/_UjlVpfWFuZGM


185. Let A and B be two sets such tat


Find 

Watch Video Solution

: n(A) = 20,  n(A ∪ B) = 42 and n(A ∩ B) = 4. n(A − B)

186. Let A and B be two sets such tat


Find 

Watch Video Solution

: n(A) = 20,  n(A ∪ B) = 42 and n(A ∩ B) = 4. n(B − A)

187. A survey shows that 76% of the Indians like oranges, whereas 62%like

bananas. What percentage of the Indians like both oranges and bananas?

Watch Video Solution

188. In a group of 950 persons, 750 can speak Hindi and 460 can speak

English. Find: How many can speak both Hindi and English.
How many can

https://dl.doubtnut.com/l/_AMKAI2wSnerw
https://dl.doubtnut.com/l/_S37W0hMqXJle
https://dl.doubtnut.com/l/_keGgtw58Lvhl
https://dl.doubtnut.com/l/_2kI5UFkrVQUt


speak English only.
How many can speak Hindi only

Watch Video Solution

189. In a group of 1000 people all of whom speak atleast one of Bengali or

Hindi language, there are 750 who can speak Hindi and 400 who can

speak Bengali. If number of people who can speak Bengali only is B and

the people who can speak both Hindi and Bengali is C, then.

Watch Video Solution

190. In a survey of 100 persons it was sound that 28 read magazine A, 30

readmagazine B, 42 read magazine C, 8 read magazines A & B, 10 read

magazine B&C and 3 read all the three. Find:Number of readers who read

magazines are

Watch Video Solution

https://dl.doubtnut.com/l/_2kI5UFkrVQUt
https://dl.doubtnut.com/l/_BXF8wSCmkb70
https://dl.doubtnut.com/l/_fE0JMZ4NsxIH


191. In a group of 50 persons, 14 drink tea but not coffee and 30 drink tea.

Find:
How many drink tea and coffee both
How many drink coffee but tea.

Watch Video Solution

192. In a survey of 100 students, how many of students studying the

various languages were found to study: English only 18, English but not

Hindi 23, English and Sanskrit 8, English 26, Sanskrit 48, Sanskrit and Hindi

8, no language 24 Find:(i) how many students were studying Hindi (ii) how

many students were studying English and Hindi

Watch Video Solution

193. Write the number of elements in the power set of null set.

Watch Video Solution

https://dl.doubtnut.com/l/_HTifdPzJ7vdz
https://dl.doubtnut.com/l/_tMDnTzuMOf7V
https://dl.doubtnut.com/l/_iy4GJFFEbIz6


194. Let 
is a multiple of 3 
and 

is a multiple of 5 
. Write 

Watch Video Solution

A = {x; x ∈ N,  x } B = {x : x ∈ N and x

} A ∩ B.

195. If A and B two sets containing 3 and 6 elements respectively and if

minimum no. elements and max no. of elements in  is p, q

respectively then p+q is

Watch Video Solution

A ∪ B

196. If 
 , then write 

Watch Video Solution

A = {x ∈ C : x2 = 1} and B = {x ∈ C : x4 = 1}

A − B and B − A.

https://dl.doubtnut.com/l/_kkVNPEoV2qq7
https://dl.doubtnut.com/l/_2lN1rmpZ4eLy
https://dl.doubtnut.com/l/_nUIS2c6b5raD


197. Let A and B be two sets having 4 and 7 elements respectively. Then

write the maximum number f elements that 
can have:

Watch Video Solution

A ∪ B

198. If

, then write 

Watch Video Solution

A = {(x,  y) : y = ,  0 ≠ x ∈ R}and B = {(x, y) : y = − x,  x ∈ R}
1

x

A ∩ B.

199. If 
 ,

then write 

Watch Video Solution

A = {(x,  y) : y = ex,  x ∈ R}and B = {(x, y) : y = x, x ∈ R}

A ∩ B.

https://dl.doubtnut.com/l/_8nKOOugJ5LkP
https://dl.doubtnut.com/l/_CKkIARZs99dI
https://dl.doubtnut.com/l/_vqReuSadMO8G


200. If A and B are two sets such that


then write 

Watch Video Solution

n(A) = 20,  n(B) = 24 and n(A ∪ B) = 40, n(A ∩ B).

201. If A and B are two sets such that


, then write 

Watch Video Solution

n(A) = 115,  n(B) = 326,  n(A − B) = 47 n(A ∪ B).

202. For any set 
is equal to


a. 
b. 
c. 
d. none of these

Watch Video Solution

A, (A' )'

A' A ϕ

203. Let A and B be two sets in the same universal set. Then, 


a. 
b. 
c. 
d. none of these

A − B =

A  ∩ B A' ∩ B A ∩ B'

https://dl.doubtnut.com/l/_5TPoIKgp2D2Z
https://dl.doubtnut.com/l/_7B7DL235vTKv
https://dl.doubtnut.com/l/_sdllNJUFmLCx
https://dl.doubtnut.com/l/_GLvhKZdeKh4Z


A. 

B. null

C. null

D. null

Answer: null

Watch Video Solution

A ∩ B

204. The number of all possible subsets of a set containing  elements ?

Watch Video Solution

n

205. For any two sets A and B 
 
 b. 
 c. 
 d. none of

these

Watch Video Solution

A ∩ (A ∪ B) = B A ϕ

https://dl.doubtnut.com/l/_GLvhKZdeKh4Z
https://dl.doubtnut.com/l/_WmQZmA1LKKcV
https://dl.doubtnut.com/l/_7muXHWim0kJR
https://dl.doubtnut.com/l/_WoSxhP2hUX4Q


206. If 
 , then
 
 b. 
 c. 


d. none of these

Watch Video Solution

A = {1, 3, 5, B}and B = {2, 4} 4 ∈ A {4} ⊂ A

B ⊂ A

207. the symmetric difference of A and B is not equal to


 


Watch Video Solution

(A − B) ∩ (B − A) (A − B) ∪ (B − A) (A ∪ B) − (A ∩ B)

{(A ∪ B) − A} ∪ {A ∩ B}

208. The symmetric difference of 
is 

b. 
c. 
d. 

Watch Video Solution

A = {1, 2, 3}and B = {3, 4, 5} {1, 2}

{1, 2, 4, 5} {4, 3} {2, 5, 1, 4, 3}

209. For any tow sets A and B, 


a. 
 b. 
 c. 
 d. 

(A − B) ∪ (B − A) =

(A − B) ∪ A (B − A) ∪ B (A ∪ B) − (A ∩ B)

https://dl.doubtnut.com/l/_WoSxhP2hUX4Q
https://dl.doubtnut.com/l/_ccG8SELC9TP8
https://dl.doubtnut.com/l/_YF78t8qYNwNU
https://dl.doubtnut.com/l/_dzv4teAIB6sF


Watch Video Solution

(A ∪ B) ∩ (A ∩ B)

210. Which of the following statement is false:

a . 
 b. 
 c. 


d. 

Watch Video Solution

A − B = A − (A ∩ B) A − B = A − (A ∩ B)

A − B = A − B' A − B = (A ∪ B) − B

211. Choose the correct answer: 1. If A, B and C are three sets and U is the

universal 6 set such that n(U) = 700, n(A) = 200, n(B) = 300 and =

100. Find 

Watch Video Solution

n(AnB)

n(A' ∩ B' )

212. Let  and 
 . Then 


(a) 
(b) 
(c) 
(d) 

A = {x : x ∈ R,  x > 4}  B = {x ∈ R : x < 5}

A ∩ B = (4, 5] (4, 5) [4, 5) [4, 5]

https://dl.doubtnut.com/l/_dzv4teAIB6sF
https://dl.doubtnut.com/l/_7Sx0QzM0C4FX
https://dl.doubtnut.com/l/_BVhbV8SQSPHK
https://dl.doubtnut.com/l/_MzikLbVXA9fs


Watch Video Solution

213. Let A and B be two sets such that


Then 
 is equal to 

b. 
c. 
d. none of these

Watch Video Solution

n(A) = 16,  n(B) = 14, n(A ∪ B) = 25. n(A ∩ B) 30

50 5

214. In set builder method the null set is represented by
 
 b. 
 c.


d. 

Watch Video Solution

{} ϕ

{x : x ≠ x} {x : x = x}

215. If A and B are two disjoint sets, then 
 is equal to



 b. 
 c. 


d. 

Watch Video Solution

n(A ∪ B)

n(A) + n(B) n(A) + n(B) − n(A ∩ B)

n(A) + n(B) + n(A ∩ B) n(A)n(B)

https://dl.doubtnut.com/l/_MzikLbVXA9fs
https://dl.doubtnut.com/l/_iSiujZCCQZ2e
https://dl.doubtnut.com/l/_hbSI65znRvBw
https://dl.doubtnut.com/l/_420v60s1N72q


216. If  and  are two sets such that


 is equal to



b. 
c. 
d. 20

Watch Video Solution

A B

n(A) = 70,  n(B) = 60,  n(A ∪ B) = 110,  then n(A ∩ B)

240 50 40

217. If A = {x : x is a multiple of 3)and, B ={x : x is a multiple of }, then A-B is

Watch Video Solution

218. If 
then





b. 


c. 


d. 


Watch Video Solution

A ∩ B = B,

a. A ⊆ B

B ⊆ A

A = ϕ

B = ϕ

https://dl.doubtnut.com/l/_ls0Py6QDhlnw
https://dl.doubtnut.com/l/_Fs9Ns20NGdmi
https://dl.doubtnut.com/l/_ylnuZbCY59W6


Others

1. Prove that : 

Watch Video Solution

A ⊆ B, B ⊆ CandC ⊆ AA = C.

2. Using properties of sets, show that for any two sets

View Text Solution

AandB, (A ∪ B) ∩ (A ∪ B ′ ) = A.

3. For any two sets 
 prove that 
 But 


is not necessarily a subset of 

View Text Solution

AandB P (A) ∪ P (B) ⊂ P (A ∪ B).

P (A ∪ B) P (A) ∪ P(B).

4. For any natural number 
 we define 
 If 


such that 
then prove that 
is the l. c.m of

a, aN = {ax : x ∈ N}.

a, b, c, d ∈ n bN ∪ cN = dN, d

https://dl.doubtnut.com/l/_JmsHY6wd7O8b
https://dl.doubtnut.com/l/_kHfEG3ebTe95
https://dl.doubtnut.com/l/_KiYksWrIAUTs
https://dl.doubtnut.com/l/_soE426fuv24c


View Text Solution

b and  ⋅

5. For any two sets A and B prove the following:

View Text Solution

A − B = AΔ(A ∩ B).

6. For any three sets A, B, and C


View Text Solution

A ∩ (B − C) = (A ∩ B) − (A ∩ C)

7. For two sets 
is equal to
 
b. 
c. 
d. 

View Text Solution

A ∪ B B ⊆ A A ⊆ B A ≠ B A = B

https://dl.doubtnut.com/l/_soE426fuv24c
https://dl.doubtnut.com/l/_eFGgIEuTsPU9
https://dl.doubtnut.com/l/_4CqJt8T5gOww
https://dl.doubtnut.com/l/_hWlRHriJ58fq

